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EX23: Determine the IRR of the following financial projects:
OF 4 = {(100, —120): (0,5)}
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EX 24: You can use Matlab to calculate the IRR: Find the internal rate of return. The initial investment is
100000 and the following cash flows represent the yearly income from the investment. Year 1:10000, Year
2: 20000, Year 3:30000, Year 4: 40000, Year 5 : 50000.
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EX 25: You can use MatLab to calculate the IRR for a non periodic cash flow: Find the internal rate of return.
The project is as follows where the time is in terms of M OF={(-30,-20,28,32);(0,2,2.5,3)}
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EX 25: You can use MatLab to calculate the IRR for a non periodic cash flow: Find the internal rate of return.
The project is as follows where the time is in terms of months. OF={(-30,-20,28,32);(0,2,2.5,3)}
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